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=+(4 mm+5x107° x800 m) = +8 mm
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o Ux[(-3.0)+(-25)+ (-1.5) +(-22)]

+2x[(~2.0) + (-1.8)]}+ (_1'8)+(—23-2)+(—2.6)

6. V

x%x5x5:—133.75 m?

—-133.75

eppns = 2V - —_2140m
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8. (1) =23.596—22.036 =1.560
(2) =23.596-0.918=22.678
(3) =21.962+0.528 = 22.490
(4) =22.926-21.962 =0.964
9. Ct=300x0.0000003x (25— 20) = 0.00045
15 1F 5= =300+ 0.00045 = 300.00045 = 300.0005
12. BA& 7% = (5.420-5.431) — (10.166 —10.157) = —0.02

14, Ah ng = %[(1.468 —1.042) + (1.886 —1.454)] = 0.429

B R 2 IR 1.454 +0.429 = 1.883

15, pro PXAL o 200265%AL 6019 m
nxD 4x50m

16. fii i =88° 45
Fft LI 5 = (90°45° —88° 45°) = 2°
18. Wi NEIR S = % _30”

20. KB =[(GE - 1F) + (18] - f8)] = 2 = 70°53°16”
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